
g012=Show[g0,g1,g2]
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D[4*((1/x)^12-(1/x)^6), x]
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Solve[% == 0,x]

         1/6          1/6               1/3  1/6
{{x -> -2   }, {x -> 2   }, {x -> -((-1)    2   )}, 
 
            1/3  1/6               2/3  1/6
  {x -> (-1)    2   }, {x -> -((-1)    2   )}, 
 
            2/3  1/6
  {x -> (-1)    2   }}

N[%]

{{x -> -1.12246}, {x -> 1.12246}, 
 
  {x -> -0.561231 - 0.972081 I}, 
 
  {x -> 0.561231 + 0.972081 I}, 
 
  {x -> 0.561231 - 0.972081 I}, 
 
  {x -> -0.561231 + 0.972081 I}}

LJ 6-12 Potential Curve 1


